SUNRISE 2 MATHEMATICS PP2 MARKING SCHEME
	
	WORKING
	MARKS
	GUIDELINES

	1. 
	Maximum volume = 64 x 3.15 = 201.6cm3
Actual volume = 64 x 3.1 = 198.4cm3
Error = 201.6 – 198.4
          = 3.2cm3
	M1
M1

A1
	

	
	
	3
	

	2. 
	

              
                 
               √11 - 9√5
                     6             

	M1



M1

A1
	

	
	
	3
	

	3. 
	
x4  + 5x    3
4              1
81  + 15    -    1 + 5                                                                                                                 
4                    4                                                                                                            

35.25 – 5.25
= 30 sq. units
	



M1

M1


A1
	

	4. 
	[image: IMG-1870]
(½  x  1/6)  + (½ x  3/12)   = 1/12       +  3/24                           
 =    5/24             
	


B1






M1


A1
	

Accept equivalent method

	5. 
	 P = a V2   + b  V3   :   4a  + 8b   = ‑20
                                   9a  - 27b  = 135
   36a  + 72b  = -180
-  36a – 108b  = 540
             180b = -720
             b = - 4
-20 = 4a  - 32	
      4a  = 12
          a = 3
  P = 3V2  +   4V3   
	
M1

M1




A1

	

	6. 
	 ar  =  6  a = 6/r
ar4   = 48
    6/r  x r4  =  48
   6 r3  = 48
      r3  = 8  
          r = 2.
        2a  = 6
          a = 3
3rd term = ar2    
              = 3 x 22  = 12
	


M1



M1

A1
	

	7. 
	P = 300,000 – 75,000		

		= 225,000		

		A=225,000 x 1.151.25

Monthly Instalment = 225,000 x 1.15 1.25		 
		                      15

                                  = 225,000 x 1.191  =    267975
	                                   15                       15
                                  = Kshs17,865	
	M1

A1


M1




A1
	for expression






for monthly installment




	8. 
	        2sin(2θ + 10) =  -1
	
	sin(2θ + 10) = -0.5

	2θ+10 = 210,330,570, 690		 

	2θ=200, 320,560,680

	θ= 100o,160o,280o,340o
	

M1

M1



A1
	



For all values

	9. 
	[image: C:\Users\user\Desktop\kesmark m.s\m.s pp11.jpg]
	
	

	10. 

















11. 
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	12. 
	
[image: C:\Users\user\Desktop\kesmark m.s\m.s pp12.jpg]
	
	

	13. 
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	14. 
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	15. 
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	16. 
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SECTION II
	17. 
	

	X
	0
	30
	60
	90
	120
	150
	180
	210
	240
	270
	300
	330
	360

	-cos x
	-1
	-- 0.87
	-0.5
	0
	0.5
	0.87
	1
	0.87
	0.5
	0
	-0.5
	-0.87
	-1

	Sin ( x - 30)
	-0.5
	0
	0.5
	0.87
	1
	0.87
	0.5
	0
	-0.5
	-0.87
	-1
	-0.87
	-0.5






Table  2 – 1 mark for any 6 correct values

[image: mso64470]

(Sin x-30) = -C0s x                                                      M1
              Then X =  150 0                                                           B1
                         X  = 3300                                                                                              B1
	

	18. 
	[image: msoA39D4]
                                             
Length of line Qs = 162  + 122
     
               = 256  + 144        =    400
         
                                              = 20 cm
Height of the pyramid

= 132  - 102 = 169 – 100 = 69
                   
                                              =  8.3cm ( 1d.p)

Cos  = 10/13  = 0.7692

            = 39.72
d)  

   
                13cm                  




                   20 cm

 h2  = 132 -62 = 169 - 36
h = 133 = 11.53 cm( 2d.p) 





                                 11.11.53 cm




                             8
                            16
                      
   Cos  =      8        = 0.6938
                    11.53
            = 46.06
(e)                                     V






                   11.53                     11.53 cm
                    cm

              M                                          N
                                16 cm
   = 2 x sin-1 8/11.53
       = 2 x 43.93
       = 87.870



	












M1



B1


M1

A1

M1

A1


















M1
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	19. 
		a)          Let A  = 62       
	Marks
	f
	x
	d = x -A   
	fd
	d2
	fd2

	45 - 49
50 -54
55 - 59
60 – 64
65 – 69
70 – 74
75 - 79
	3
9
13
15
5
4
1
	47
52
57
62
67
72
77
	-15
-10
-5
0
5
10
15
	-45
-90
-65
0
25
40
15
	225
100
25
0
25
100
225
	675
900
325
0
125
400
225

	
	f = 50
	
	
	fd = -120
	              
	fd2 =  2650


                     
                              
 
                                       f
                        
                           = 62  +   -120
                                             50
                        
        
                   = 62  - 2.4
                               = 59.6

          = A + fd
                       f
                            = 62  +   -120
                                             50
                            = 62  -  2.4 
                            = 59.6

v =  fd2    -  fd   2
          f         f
         = 2650     -  120)2                                    
                50           50               
         = 53 – 5.76  
         = 47.24

s.d  =   fd2    -    fd    2    
                 f            f    

              =  47.24
                  = 6.873 



	
B1

B1

B1









M1



A1





M1

M1
A1




M1
A1













20. 
[image: ]








21. 
[image: ]









	22. 
	a)  131   + 49
             = 180
b) i)  60 x  Cos 
        = 60 x 180 Cos 36
        = 60 x 180 x 0.8090
       = 8737.38 pm

 x 2 R Cos 
360
 180 x 2 x 3.142 x 6370 Cos 36
 360
     = 16192.103 km
c)           x 2 x 3.142 x 6370 Cos 36
    360 
                 = 840 km
    = 840 x 360
          628 x 6370 Cos 36
      = 9.34

   Longitude of town c
    13 1 – 9.34
     = 121.66
	M1
A1

M1

A1



M1

A1




M1

A1

M1
A1

	
	
	10

	23. 
	[image: ]
AC = 7.8  0.1

	
	b0 Radius = 4.5  0.1 cm
c) length of perpendicular = 4.5   0.1
	
	

	
	
	10
	

	
	
	
	


24. 
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19. A metal sphere has a radius 5cm and a density of 2.4g/cm?.

a. Calculate the mass of the ball in kg 4mks
m
£f= — M
v
Y= {.?Lr‘z e
SIS T
X3 x5 A1
= 5225927756 (m? 4
M = v
= B2 5A875E X R
-= |°7~56‘62>706(g
= 1'45662706| Ky

b. The ball is dropped into a cylindrical container which is partially filled with
water. The ball is fully sub-merged. If the cylinder has a base radius of
8cm, calculate the change in the water lgvel. 3mks

V= Trzh = 5235977 756 (m> Ay
i — 5235927756 eqpating Ydumes

I XEX 3 Cowipli
h = R 60466667 W =

c. The sphere is melted down to form a metal cylinder of same radius.
Calculate the height of the cylinder formed. 3mks

V= Tvzh = 533 5987756 cm¥ o e‘L"“J@"’\ﬁ Velumes

oo £2359277% My Cimphty
= e
JU x 25 A Arcumaty:

bz 6'667CM
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